
CHECK IN

(1) Leaving your answer as a fraction in its simplest form, solve:

(a) 9𝑥 = 5

(b) 90𝑥 = 33

(c) 990𝑥 = 123

(2) Write each of these numbers to 6 decimal places

(a) 0. ሶ3

(b) 0.1 ሶ3

(c) 0. ሶ1 ሶ3

(c) 0. ሶ10 ሶ3

(d) 0.1 ሶ0 ሶ3

(e) 0.10 ሶ3



𝐺𝑎𝑏𝑟𝑖𝑒𝑙𝑙𝑎 h𝑎𝑠 𝑎𝑛𝑠𝑤𝑒𝑟𝑒𝑑 𝑡h𝑖𝑠 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛 𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑙𝑦

Convert 0. ሶ2 into a fraction without using 
your calculator

(1) Why has Gabriella multiplied equation ①
by 10? 

(2) What if the question was:

Convert 0. ሶ4 ሶ2 into a fraction?

How would this change the solution?

Study the solution carefully and answer 
these questions



Convert the following to a fraction without using your 
calculator

1) 𝑥 = 0. ሶ8

Solution:

𝑥 = 0.888⋯ 1
10𝑥 = 8.888⋯ 2

(2) − (1)
9𝑥 = 8
𝑥 =



Convert the following to a fraction without using your calculator

2) 𝑥 = 0.5 ሶ3

Solution:

𝑥 = 0.53333⋯ 1
10𝑥 = 5.3333⋯ 2
100𝑥 = 53.3333⋯ 3

(3) − (2)
90𝑥 =
𝑥 =



Convert the following to a fraction without using your calculator

3) 𝑥 = 0. ሶ6 ሶ7

Solution:

𝑥 = 0.676767⋯ 1
10𝑥 = 6.76767⋯ 2
100𝑥 = 67.6767⋯ 3



Convert the following to a fraction without using your calculator

4) 𝑥 = 0. ሶ51 ሶ3

Solution:

𝑥 = 0.513513⋯(1)



Convert the following to fractions without using your calculator

5) 𝑥 = 0.6 ሶ1 ሶ3
6) 𝑥 = 0.72 ሶ4
7) 𝑥 = 1.3 ሶ2
8) 𝑥 = 5. ሶ41 ሶ4
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CHECK OUT

(1) Convert the following into fractions, without using a calculator

(a) 0. ሶ7

(b) 0. ሶ1 ሶ4

(c) 0.8 ሶ1 ሶ6



(2) Show that 0.2 ሶ7 ሶ6 =
137

495

(3) Given that 𝑥 and 𝑦 are both positive integers smaller than 10. 
Write 0. ሶ𝑥 ሶ𝑦 as a fraction



(4) Tyler says
"0. ሶ9 is equal to 1"
Show that this statement is true.


